[image: image13.png]


[image: image14.jpg]& MEEPETy



                     新东方网（中考）频道

[image: image1.jpg]BERXRANERE P KK

B % 2009.1

R % 4 RS
— EEE: (KE#36 5, SEIH)

E TSI FEERT, HHRA—MRIEFK. R IEFEIHT K78 IER
AR L

e 1 2 3|7 [MESE S R PR g |9 | 10 |1 | 12
ER

1. 9 W FIRET
(A) %3 (B) -3 (C)F3 (D) 81

2. eRRIAER /MK, KR 2 GORM PR BE SRR B, s R R
B E. 2 4§ =0. 000 000 002 %, 0.000 000 002 X ~BUHFHHICBIELR H

(A) 20x107"° (B) 2x10~° (C)82x10" (D) 8 02x%x107"
3. HETR m -4 PITHEHRSHE, HRIEFRKN

(A) (m+2)(m-2) (B) (m+4)(m-4)

(C) (m-2)* (D) (m+2)*

4. FHIFREMLR MK, REER y 2« MREHE

5. FILEHSRIERTZ
(A) @ - a*=d* (B) (3b*)*=3b* (C) (a*)*=a® (D) d°+d’=d’

6. By =3x ¥y HIE TR 2 B R SRS ) Y B4 BT R Y R B AT U2
(A) y=3x+2 (B) y=3x-2 (C) y=2x+3 (D) y=2x-3




[image: image2.jpg]7. 1, AABCx= ADEF, DF Fl AC, FE 1 CB Rx$Rish. # LA= i

100°, £ F=47°, W LDEF %F by
{A) 100° (B) 53° (C) 47° (D) 33° 2 C
., E
8. A % AEEY : 5
W= o
£€) _a(:b (%) _aa+b
0. BAISE= TG — AR 40°, MDA BEECH
(A) 40° (B) 80° (C) 100° (D) 40°8% 100°
10. EEIKH m R m< V38 <m+1, W mEEN
(A) 4 (B) 5
(C) 6 (D) 7
1. F 2 PhRE 04, AB 4LRMITRIRIRDNHSITHE b
R AZANER, b s fineE, y 9| 58
R AT IR 7E 6 2% 8 ShX— R AT B2
2
(A) 120 K/%% (B) 108 X/4}
(C) 90 K/4 (D) 88 /4

12, W3, SEEM=MHY ABC S HI A HAXHAREE
b, d #ERMEEREIHAE, FBAABC, EIFNATHE
WAL R — A E R B R BRIIEN Y, it st C A ARA
TR

1 1
(A) (o ~EHNS (B (1, -1, 2

© (1, =1), /2 (D) (3, -5). 2

=, mzE: (FEX245, SEIH)

I3, Wy = R x RO

14, %o OB, —WEHy=av+] Ry Bix HOHHK
i) -

15. W4, £ RIAABC 1, £C=90°, AD j £ CAB [if P4k, 4
DE L AB F#5 E. # CD=2cm, W DE = cm.

16. WESHa, biE/a-4+(b+5)" =0, B4 a+bHEN .

P




[image: image3.jpg]BT

18.

19.

e S RBAHE R — ¥4, LA BC EH FHOR AC, BC B

=4 K, £A=30°, NEHR AB = *. g | 2
WE 6, DC=EB, EREF| ACBD< ABCE, W LLH % % -

A5 - (BE—AN&MET) 5

mE7, BRI ESEHEE—RAE P, &P BTN D E
H-1. AN SR B B E 77 16 7R 3h— J R 5 B A A8 4k 5 2 )

R 2 85 PR FR 50— :

TEAABC 1, AD -5y £ CAB %5 BC F D, DE//BA 5 AC F E. EF - 5
V5r LCED 3 BC F F, FG//BAZEAC F G, {RIGXEEMBEMT Ee
HIE R 8 PRI SELR. B9 T 11 RE 8 FI R X FR Y

JrEASEIN, R BH +AK =31, H BH-AK=3, W& 11 shag —‘Tz‘:@-o—r—r>
KKEMR_ . &7

c L
K x G o .
Yol K3 Y
= Ty ’50'§>
E\D~=(> E > =D Sy =D
D E Jp
A A
B A" b
B ‘S .
A8 B9 E 10 B B

=, (AR 165, SAELH)

21,
i :

(1) 4EH: (x+35)7 + (2x+y) (x—y).




[image: image4.jpg](2) HRER: © -207y +xp°.
f#:

.

% % . 4x ol
2. (1) A, TRl ()« e -
fi#
X 2
(2) ®r@: =5 -—=1
fi#:




[image: image5.jpg]M, (FE£8 4, S@45)

23. W@ 12, & D. E fE AABC ) BC 31}, AB =AC, AD = AE.
sRiiF: BD =CE.

AR :

A 12

24. A 13, EFHEALERP, &£ 0 WERELA HRy=kh+b %34 (0, 2),
B (4, 0)Pisi.
(1) RE% AB BT
(2) mCHBtrA (0, 1), TR CECDLAOZAB T D. xHi LM PHA, B, C,
D. O PP RPTHRI =MATES AACD 2%, REN=MALH 1, *
e i P A = AT R R B AL
fi#:





[image: image6.jpg]H, (XE#£164%, F25@5 9, 2655, F27/6 5)
25. BiE: LT 2 -3x - 10 HRERE 2* -3x-10= (x-5)(x+2), HEHTFHE
x* =32 -10 =0AT AL R (x-5)(x+2) =0, f#Fx=5Kx=-2.
MELTR * 32 -10 AR (x-5). (x+2), 5HE2 -3x-10=0 )t x =5
Hor= -2 ZEMEE ATRH, MFx=5, x= -2 BHB+ -3x-10=0 {9f%,
2 (x-5)(x+2) BEWR 2 -3x-10 AR, X, HEL-ASTASHERX,
AT A3 e X 0 7 R A oF 1 L rh A R K
Bl MFETHR -3x+2. WEAH, Hx=18, 2°-32+2=0, Mx’ -3x+2
=(x-1)A, HpAR%ER, B (x-1) BEHR 2 -3x+2 W—PHER HEHEE
KA, WATHERBRE.

2+x-2
x—1)+0x3x+2
e
x*=3x
x2-x
—2x+2
—2x+2
0
s =3x42=(x-1) (2 +2-2) =(x-1)(2-1) (2 +2) = (x-1)*(x +2).
WE:
(1) sfEERK: £ -x-2= ;
(2) WEH, Y= Bf, 2° +x° -5x+3=0. Af§ 22T

22’ -Sx+3— P ER. MEER: O +27 -5x+3= ;
(3) B2 +mx-2= (x+1)B, 3 B A, WoH#EEK:

2 +mx-2=

4




[image: image7.jpg]26. KT “ERH—HEX", THAREKRS RBAILE, BRI RRALFRIGE S
. BEBRAKERMBKIERIAY y BRI, FREN«EHN, B (x, y) W%
FRE0 SRR 14 HXTREAISIR b R, SBERA = BHRA - EERA. GEHI
S VEBF, RET WA 15 BRI EE TR,

Y(EATT

s SIEREA
FEIEHE B RA 2 [T
& 14 B 15
(1) 7EE 14 1, RBEALFEEEWHIE (x, y) MR SFESHL A5
AR H BB AR HAE, SEHE L i,
ARFEHZERABL 4 BHT;
(2) RELFEHFEROEERANERRZAMGRBKR, FERE AR HHRE

Fiex: 2N
i :




[image: image8.jpg]2. B ZHA (a, DB (3, 1), C(6, 0), HALERMEE =1+ WERL.

(1) 3K a B9fH;

(2) HPHxHhE—FhA
D24 AOAP 5 A CBP K ARG H/MERT, SR P AHR;
224 L APB =20°8}, 3K £ OAP + £ PBC RBEE%L

ﬂ:

2 -10 1 2 3 4 5 6 x

& 16

Sy (RO I IO A DA WG )
=51

& 17




[image: image9.jpg]WRENEEE-FHAREIHFER

—, EEE: (KEF364, BEIMD

Bs 1 2 3 4 5 6 7 8 9

10

11 12

=3 3 A B A B C A D (o} D

=, HEE: (KBS, BE3IN)

13.
20.

2l.

fi#:

x#-1; 14. <; 15.2; 16. -1; 17. 8; 18. DB=EC%, EEAME—; 19. 7-1;

168;

. (K164, |AE4S)

(1) 4B (x+3y)’ +2x+y)(x- ).

Ek=x +6xp+9y* +(2x + y)x — y)—————— 2 4
=x? +6xy+9y* +2x2 = 2xy + xy - y? = 34
ES Py ely e 4 4

) #mER: x*-2xy+ 0’

B BR=x(r’ -2y +y})———— 94
Ex(x—y) . — ———— 14
22. (1) ALl FRME: (x—f—i—x—ii)+i_x2,;q: S
i,
=x’+2x—x’+2xxx-2 _______ e

(x+2)(x-2) 4x

4x x=-2

=——x
(x+2)(x-2) 4x

1 1
=—4 i, = B 4
Y y=—4 0, B T 4

JAERBCE




[image: image10.jpg]@ w221,

x=1 x

#: TP RN REU x(x - 1),8

22 N=xx-Dy—— 3%

BE, fx=2. ————— 3 43

ZR%, x=2REHEOR.
SRITREEB A x=2.
W, (@384, BE4L)

23. iEgk—: @1, SH A AP L BCFP.

" AB=AC,
BERC 24
AD=AE,
DESRRE ——t 34

SBD=CE —— =k
;" AB=AC,
.V o e ] 4
“*AD=AE,
. ZADE=Z AED.
X RD. E£BCilL,
S EADBEARC 24
#EAABD FINACE F,
ZADB = ZAEC,
ZB=/C,
AB=AC,
. AABDLAACE.

B CR 4 &

24. f: (1) VHZ y=hkc+b%id A 40,2),
b=,

14
YHZ y = ke +2 2it A B@4,0),

JERBEF-2




[image: image11.jpg]1

Sk=——.
2
-'-EfiABB‘Jﬁifﬁit%Jy=—%x+2. <o N
©) 8; 3 4
BHE, o 5 (DT—FR, TS
~k
1 D
o) B8

G Ry TG

B, (B 164, F25 59, H26/54, H2W64)

ISR (D (x+ D=2 — 14
(VI ) et 24
x=1; (B (x+3)) ——oree- -3 4
(=1’ (X+3) oo —-4 4
BN (-t (x—2) G
G (1) L 80> e 34

(2) VEBERA=RMBA-ZERE,

=

1
27. #8: (1) VA AGa)EERBEN 2 wEg L,
B -1 4

() OmE 3, ERAXT xHBNHE AL, TA/A 2, -1) .
EHA'BE T AP
WHL A' B BB RN y=loctb(k# 0),
AR E LB N y=2x-5. —2 4

4 )=0 B}, x=2.5. :
* AP+ BP WASRAMUS, FT@AO4P 2 O] T g,.’-Ps TP %
5ACBP KMARARAIMI, Jnt, =

H P R8ERH(2.5,0). v 3 4 W 3

J\EHHE-:




[image: image12.jpg]@tk 4, WAA' X xBTHK. %% OA'. OB. AB, 1f BMLOC T M.
" A'K = AK =AB=1, ZOKA'= ZA'AB = 90° ,OK=AA'=2,
SAOKA'2A A'AB . - oeemeeeeeeev -4 5
. OA4'=A'B,LOA'K = ZABA'

" RtA AA'B F,

ZABA'+£AA'B=90°,

& ZOA'B=90°.

LAOA'B hSEHAZME.

. ZBOA'= ZBOC + ZA'OC = 45°.

. BM-L 0C,oM=MC=3,

2. 0B=BC. s A B
c
- ZBOC = £BCO | 2 100 P2 3 4 5 ¢ 3
-1
-+ LAOC = £4'0C =
Bs
5 LAOC + £ZBCO = 45° , —-eeeeeeeee. 54
MK s, 24 ZAPB=20°H,
LOAP+£PBC
=360° - (LAOC + £BCO) - (£APO + £BPC)
=360° — 45° — (180° — 20°) =155°. ~=-rrmmemrmmremmemmnenas s

(G AT S A EREAE—, TR ET RIS 5)

JEREFA




新东方网（中考）频道                                         http://zhongkao.xdf.cn/                                                   

[image: image13.png][image: image14.jpg]